Discovery of a Novel Linear-in-k Spin hereas for 3D 1 inc avy-hole SS ehiits a cic linear scaling ith k, 2D s, k, 2D

H = --

 $r s r r r r \leq$

$$(\) = - \ (\) (\) \ (\) + \ (\) (\) + \cdots, (4)$$

 $\underset{l}{h} = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underset{s_{l}}{s_{l}} = \dots \cdot r \cdot \dots \cdot r \cdot \underbrace{\qquad \qquad } f \neq s \cdot \cdot 1 \cdot \dots \cdot f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{-\left(\begin{array}{c} (-) \\ \end{array} \right)} \cdot \underbrace{\qquad \qquad } f = r \cdot e^{ (r) \dots r$ $(r)_{k}$ $(r)_{k}$ · r ... γ s ... γ r .. 17 γ ... s.i. s., r., h.h., ..., () (s.,.r-r . . r . 27 G, . . . f . 3D . 2D s s. \mathbf{r} . \mathbf{r} . s(x) = s(x) + s(x) +..., ... rs ..., .ff.. (..) µ /.s.. r л... 5... 0